Homework #10
Tipler 28-62,66,75, 2 others

27k
z Gy 120V 1= U7 COMe

fowe = (o
f/”@/\*%z 1, /ji;’

~Yms=
~~~~~~~~~~ | Pe

| ? v ,ég,yi" :{1 g = -_— }
pue o5 4,%; T Z

{/»-—{ , Y

Vosnehs  w S e
,Z’ 7/&;§ ~ PN ‘é & 2o
| d e
AL A R o

B AN

0/ \57}{‘/& . am e
) CLcor e /-”/

/wru ¥

ﬂ(wmf kjé Va?fzjl
Sopg' 5= 08



7966
le o

KL DA
/77’2’ {8 = o/

l Lj; f”f:g ?z £, -

I A [ PRI A S VT
7" mfﬁ“ ﬁ?};;‘i 5o v

. § A
N oA ;Jl j»[‘ug ‘
Ju ol g

L
e Sruat

_éig } 4/, @2—17/{,?&,457?)
g Ya3 fz“” 47;[ = 4/;9“ $4 77.97

~.20 S By



g, 2
2
C T\ ¢ - 7, €, )
N, T A%
£,
ii . ~—T é,'
— gl éz, {2" &L?‘ ?4
Z Zt RSN VY o 1

/ ; - .,

Y. T dte it e st Fo g dude drop D6,
ﬂ{/édl‘j ofte ﬂmf Z%&f? %’ ,MAS;/M/ /4 J'ud’ anr

. . . C, . . 5
/46’-‘ bouvel, A'Ml ﬂ{ vesstor 15 jus’f o /wa Lo vvéant 2
we  have
et

O
’NrV .

\ 3 - /'(" p
v + w _
it o Vs 50
{P ﬂ/ Woltacs a3 :_VL N Fr - Jo kI
f j Vs /) Ey Z kA



